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QUESTION 1

LTM can only load balance outbound traffic by using iRules
A. True

B. False

Correct Answer: A

QUESTION 2
Which of the following statements best describes the ARX architecture?

A. The ARX\\'s split path architecture has a data path that handles the most common operations, and a control path that
handles other operations requiring deeper inspection and updating of the index.

B. The ARX\\'s architecture has redundancy built in, allowing a single ARX to be deployed in most use cases which
provides a huge cost savings to customers.

C. All of the above.
D. Itis a software agent that installs on the storage device.

Correct Answer: A

QUESTION 3

An administrator encounter an error while working on eBiG.IP device and contacts F5 Support to open a case. While
opening the case Support of the administrator that a BIO-IP version update is required.

Which F5 Support policy requires the administrator to upgrade the BIG-IP version.
A. End of Software Support

B. End of Support Contact Renewal

C. End of Technical Support

D. End of Return to Manufacturing

Correct Answer: A

QUESTION 4

A messaging system digitally signs messages to ensure non-repudiation of the sender. Which component should the
receiver use to validate the message?

A. Public Key
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B. SSL extension
C. A negotiated security algorithm
D. private Key

Correct Answer: A

QUESTION 5

A BIG IP Administrator wants to add a new VLAN (VLAN 40) to an LACP trunk (named LACPO01) connected to the BIG-
IP device Mufti VLANS exist on LACPO1.

Which TMSH command should the BIG IP Administrator issue to add the new VLAN to the existing LACP trunk?
A. create net vlan VLAN4O (interfaces add (LACPO1 {lagged)) tag 40}

B. create net vlan VLANA4O0 {interfaces replace-all-with {LACP01{tagged}} tag 40}

C. create net vlan VLANA4O0 interfaces replace all with {LACPO01 {untagged)} tag 40}

D. create net vlan VLANA4O {interfaces add {LACPO1 {untagged}} tag 40}

Correct Answer: B

Latest 101 Dumps 101 VCE Dumps 101 Exam Questions

Latest 101 Dumps | 101 VCE Dumps | 101 Exam Questions 3/3


https://www.pass4itsure.com/101.html
https://www.pass4itsure.com/101.html
https://www.pass4itsure.com/101.html
http://www.tcpdf.org
https://www.pass4itsure.com/101.html
https://www.pass4itsure.com/101.html
https://www.pass4itsure.com/101.html

